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Cekyus 1.5
19 am

Cekuus 1.4
25 3m
Cekyus 1.3
25 3m
Cekuus 12
19 3m

Cekuus 1.1

1 xbapman
SkBapmup = 50 250,3 M2
C - 535 wm - 40%
T - 362 wm - 27%
2K - 319 wm - 24%
3k - 132 wm - 10%

Wmozo: 1348 wm - 100%
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Cekuusi 1.1 (16 aT)

BbicoTa 3gaHunsa = 52.5 m

Cekumsi 1.2 (19 aT)

BbicoTa 3gaHnsa = 61.5 m

Cekuus 1.3 (25 aT)

BbicoTa 3gaHunsa = 79.5 m

Cekuusi 1.4 (25 aT)

BbicoTa 3gaHunsa = 79.5 m

Cekuusi 1.5 (19 aT)

BbicoTa 3gaHnsa = 61.5 m

Cekums 2 (31 aT)

BbicoTa 3gaHunsa = 97.5 m

Cekuusi 3.1 (16 aT)

BbicoTa 3gaHunsa = 52.5 m

Cekuus 3.2 (16 aT)

BbicoTa 3gaHunsa = 52.5 m

Cekuusi 4.1 (8 aT)

BbicoTa 3gaHunsa = 28.5 m

Cekuusi 4.2 (8 aT)

BbicoTa 3gaHunsa = 28.5 m




Cekyus 6
31 3m

Cekuus 5
25 3m

2 kBapman
SkBapmup = 41 961,45 M2
C - 545 wm - 44%

K - 326 wm - 26%
2k - 327 wm - 26%
3k - 45 wm - 4%

Mmozo: 1243 wm - 100%
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Cekuus 7.2
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Cekuma 5 (25 aT)

BbicoTa 3gaHuns = 79.5 m

Cekuusa 6 (31 aT)

BbicoTa 3gaHunsa = 97.5 m

Cekumna 7.1 (10 aT)

BricoTa 3gaHunsa = 34.5 m

Cekumna 7.2 (16 aT)

BbicoTa 3gaHunsa = 52.5 m

Cekuma 7.3 (16 aT)

BbicoTa 3gaHunsa = 52.5 m

Cekumna 7.4 (19 aT)

BbicoTa 3gaHnsa = 61.5 m

Cekumsa 8.1 (8 aT)

BbicoTa 3gaHuna = 28.5 m

Cekumsa 8.2 (10 aT)

BbicoTa 3gaHunsa = 34.5 m




Cekuus 9.4
25 3m

Cexuus 9.5
19 3m
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Cekumsa 9.1 (16 aT)

BbicoTa 3gaHuns = 52.5 m

Cekumna 9.2 (19 aT)

BbicoTa 3gaHunsa = 61.5 m

Cekuusa 9.3 (25 aT)

BricoTa 3gaHuna = 79.5 m

Cekumnsa 9.4 (25 aT)

BbicoTa 3gaHuna = 79.5 m

Cekumsa 9.5 (19 aT)

BbicoTa 3gaHnsa = 61.5 m

Cekumsa 10 (31 aT)

BricoTa 3gaHuna = 97.5 m

Cekuma 11 (16 aT)

BbicoTa 3gaHunsa = 52.5 m

Cekumna 12.1 (8 aT)

BbicoTa 3gaHunsa = 28.5 m

Cekumna 12.2 (8 aT)

BbicoTa 3gaHunsa = 28.5 m
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Cekumsa 13.1 (22 aT)

BbicoTa 3gaHus = 70.5 m

Cekumsa 13.2 (22 aT)

BbicoTa 3gaHus = 70.5 m

Cekums 14 (31 aT)

BbicoTa 3gaHus = 97.5 m

Cekumsa 15.1 (12 aT)

BbicoTa 3gaHus = 40.5 m

Cekumnsa 15.2 (16 aT)

BbicoTa 3gaHusa = 52.5 m

Cekumsa 15.3 (19 aT)

BbicoTa 3gaHus = 61.5m

Cekumnsa 15.4 (25 aT)

BbicoTa 3gaHus = 79.5 m

Cekums 16.1 (8 aT)

BbicoTa 3gaHusa = 28.5 m

Cekumnsa 16.2 (10 aT)

BbicoTa 3gaHus = 34.5 m
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Cekumsa 17.1 (19 aT)

BbicoTa 3gaHus = 61.5m

Cekumsa 17.2 (16 aT)

BbicoTa 3gaHusa = 52.5 m

Cekumsa 17.3 (16 aT)

BbicoTa 3gaHusa = 52.5 m

Cekumsa 17.4 (31 aT)

BbicoTa 3gaHus = 97.5 m

Cekums 18 (31 aT)

BbicoTa 3gaHus = 97.5 m

Cekumsa 19.1 (16 aT)

BbicoTa 3gaHusa = 52.5 m

Cekumsa 19.2 (21 aT)

BbicoTa 3gaHus = 67.5 m

Cekumsa 19.3 (25 aT)

BbicoTa 3gaHus = 79.5 m




